25, Po3p’sXiTh HEPIBHICTS:
DS-2(x-D>4-x;

2) 0,2(7=2)<2,3-0,3(y—6);

2(1,._1 1.
3) 3(3.1: 2]24x+22,

4) x(4x+1)—7(x* = 2x) <3x(8—2x) +6;
x'—'4 x .
3 —‘-2"'>5,
x-214_x—812s3;
Tx-4 3x+3 8—x

N—g =% >7%

B) (x+ O} x =1 —(x+3)}x~-4)<5x;

9) (4x =1? — (2x =3)(6x +5) > 4(x — 2)* +16x;

10) 2x(3+8x) - (4x-3N(4x +3)=21,5x.

5)

6)

89. Tlobyxyiire rpadik dyHkIii:

) y=x>~6x+5; 5) y=4x+x%;

2) y=—x>+2x+8; 6) y=4—x°;
3)y=%x2+x—8; 7) y==02x2+2x-5;
4)y=3x2—6x+3; 8)y=x2-2x+3.

113. Po3B’1xiTh HEPIBHICTD:
1) x*—5x-36<0 ;
2) x* +7x-3020;
3) —x% +4,6x-2,4<0;
4) 7x2+19x—650;
5) —3x2 +4x+4>0;

118. Po3s’aXIiTE CHCTEMY HEPIBHOCTEH:

h x*+x-6<0, 4) x* +x-12<0,
x>0; 8+2x<0;

2) 3x2 —8x-3>0, 5) x* +6x-40<0,
x<10; x> +3x-1820:

2x? +13x-7<0 -3x? +16x+12<0,
3) * 6) 1 ,
15-3x<0; x“=1lx<0.



